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Which town is better at recycling?

Aims

In this activity students will:

· look at data on recycling from two towns

· compare how much each town recycles and which is the best recycler.

Students will be working scientifically to:

· present observations and data using appropriate methods, including tables and graphs

· interpret observations and data, including identifying patterns and using observations, measurements, and data to draw conclusions

· apply mathematical concepts and calculate results.

Students will be using the following literacy/maths skills: 

· identifying main ideas, events, and supporting details

· plotting and interpreting graphs of recycling data.

Teacher notes 

· Students will look at data about recycling from two towns. They will plot a graph of this before comparing how much each town recycles and deciding which town is the best recycler. 

· Students should be aware of the materials that can be recycled prior to undertaking this task and should have some understanding of the methods used by local government and council departments to collect and recycle materials. 

· Students will need to be confident at plotting and interpreting bar graphs. 

· The numbers involved in the task are of a fairly high magnitude, so students should be confident at carrying out calculations involving large numbers.
· The skill sheet Drawing graphs and Choosing scales are available on Kerboodle. This will support students with choosing the correct graph type and the correct axes scales.
Answers 

Task
Students should draw a bar chart for the data. Ideally students should be encouraged to draw both sets of data on one pair of axes.

Questions

1
Town A produces the most waste overall: 

360 000 kg + 600 000 kg + 120 000 kg = 1 080 000 kg compared with 

270 000 kg + 135 000 kg + 90 000 kg = 495 000 for Town B

2
Town A recycles the most waste overall:


10 000 kg + 500 000 kg + 80 000 kg = 590 000 kg compared with 


150 000 kg + 115 000 kg + 50 000 kg = 315 000 kg

3
Amount of paper recycled = 10 000 kg + 150 000 kg = 160 000 kg


Amount of glass recycled = 500 000 kg + 115 000 kg = 615 000 kg


Amount of food recycled = 80 000 kg + 50 000 kg = 130 000 kg


Therefore, glass was the material recycled in the largest quantities.

4
 Credit any sensible suggestion given by students for this question. For example, not as many recycling facilities in Town A.
Extension 

1
Town A = (590 000 ÷ 1 080 000) × 100 = 54.6 % recycled


Town B = (315 000 ÷ 495 000) × 100 = 63.6 % recycled


Therefore, town B recycles the greater percentage of its waste.

2
Town A = 1 080 000 kg ÷ 6500 people = 166.2 kg per person (average)


Town B = 495 000 kg ÷ 2000 people = 247.5 kg per person (average)


Therefore, Town B produces more waste per person. 
Support sheet

The accompanying support sheet provides a graph of the results included in the task to support students. 
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